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Python

exl tcp tx.py

sock.bind(('127.0.0.1',8080)
sock.listen (1)
(client, addr) = sock.accept ()

print (client.recv (128) .decode ())

python exl tcp_ tx.py
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> python
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>>> import socketl
>>> sock = socket.socket (socket.

AF_INET, socket. SOCK_STREAM)
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exl_tcp_tx.py
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>>> sock.bind(('127.0.0.1"', 8080))

I 5 — [ Address already in use] 2SFE/R S N724E
FIT2EBHMLTLEZS N,

WIZ, listen AV v K& flio THKGELZ T
FHRELET. koaxr FIZFEKRELZTHL O
HDOETHITT.
>>> sock.listen (1)@
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>>> (client, addr) = sock.accept ()
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